ouduLufmere vtuhhu<c<uchd
Stin hwdwjuph Skn puwlwywypp twjuyhtt hhjwunwungh 6uph dwutiwyh

YyEpwunpngnid
hwq.npwd
3
=3 Uty dhwynph
= Qwithdwu Cunhwu
g Ugfuwwnwuph wujwuntdp HID Lwuwyp punhwunip L
2 dhwynp wndtipp
3 wndbipp
\V
2 3 4 5 6 7
Lwiniwt wluwnwupubp
46.g7 |Pent dhglnpduihl puitipnud ({nuwinwing U 93.1 0.551 51.30
wwwnyhpwwnntht)
46124 Ubnwnwuwjwuwnb nnwt pinutiph wwywdnuwnwdnid i 270 1579 494
(YBpwnuwnd wwwnyppwunnihu)
46124 Puwjint nnwt pinlutiph wywdnunwdnid (Yepwnwna 5 20.80 1572 39,70
wwwnyhpwunntht)
46124 Lwfuwdnunph thwjint yhunpwdubiph wwywdnunwdnid i 6.80 1572 10.69
(YBpwnuwnd wwwnyppwinniht)
46102 | Pwnt hwinwliubnh pultinaul (Ypwinuing pd 248.5 0.609 151.34
wwwnyhpwwnntht)
10-28 | Pwjnt wwwnpqwiph pwunnuw (YGpwnwps fuil 19 31149 3738
9=0.8 |wywwyhpwwntht)
46.96 (hpbtinw opnpnwuttiph wwwdnuwnwdnd  (YEpwnwpa . 68.8 0130 8.94
wwwnyhpwwnntht)
11-223 |Upwnwpht ywwbpp Yph ujunp pwunnud p.d. 392.4 1.243 487.75
14-317
l{b3n Upwnwpht wwwnbph dwytipbutbiph Jwgnd pd 392.4 0.061 23.94
11-223 |Lbpphtu ywwbpp Yph ujwnp pwunnud p.d. 473.0 1.243 587.94
23-229
ki Chu wnph pwpanud wywnndbipiuwubphu dkinpny wnu 8.6 0.952 8.19
2 | C310-3 [Chu wnph wbnwihnfund  3Yd hbnwynpnigjwu Ypw inu 8.60 1.893 16.28
Cunwdbkup 1420.68
Swuhp
9 -
8-11 b Swuhph opnprwuubph Yuwljwpwdwsdh thnfunwd 30% swihny gl 68.80 2773 190.78
0.8tud
12-278 |>wuheh snpnuikttinh. Lunnignud ul phetmhg 0.5 dd qdu 86.0 13.354 1148.44
hwuuwn.
14.983 Lwfuypunwd ubipyywsd phpebinw wwuhph ubpynud Bpynt ol 461.0 419.97
wugwd uniphly ubpyny
Cunwdbkup % 1759.20
bl
46-44 |runnnsubiph pwgnw 300x3004d hwwn 40t 61.72
) | 6473 Uhwény| b/ptinnub dwdyh uwih Yunnignid £ 20 nwuh hud 453.79
pbwnnuny
3 hud [Cdbybtip N14 ] 19.2 11.669 224.04




hup |EpYuwwdp N14 d 76.8 12.406 952.78
hup |Udpwu o 8A n 0.3452 790.238 272.79
hup |Udpwu P 12A 111 n 0.7502 794.653 596.15
46-73 |hunnnsutiph hwynud P 15 nwuh pbivinuny fud 0.8 236.880 189.50
Cunwdbup 2750.71
Muwwnthwuubp
Unp ywwnnthwuubph nbnunpnd dbnwnwwjwuwnhg
hud. |6.0ud wwywytithwpbeny 4x4 dd pwgynn hwjulwu wypnbhy pd 1.00 36.146 36.15
Ywd hwdwndtp
hud. |Unyup spwgynn pu 1.00 25.193 25.19
10-104 [Nwuwinthwuwgngbiph nbnunpnu pd 2.00 0.837 1.67
hu$. [NMwwnthwuwgngbiph wpdbpp 25 ud wju. uwhwnwy d 0.25 3.245 0.81
m h
12.280 wwinthwuubiph wpwnwphu gpwhbnwgdwu hwppwlutiph - 0.95 7740 194
Yuwnnignid ult phetinny 0,5dd 25 ud jwjunipjwdp
Cunwdbkup 65.76
Tnubp
“twu pinyubiph wbnwnpnud dbnwnwwwuwnt uwhwnwy
hud.  |Jwywlybwywnwn 6000 wwywytthwebeny 4+4dd hwj)julwu pd 20.80 45.456 945.48
wpndhy, Ywd hwdwndtp
“tnwu pinyutiph wnbnwnpnud dbnwnwwwuwnt uwhwnwy
hu$. [funy 60dd wwwlybthwebipny 4+4dd hwjwywu wpndhy, pu 6.72 45.456 305.46
Ywd hwdwpdbp
Lunwdbkup 1250.95
Muwuwnbp
8.163 Upwwpht wywuwnbiph Yunnignud  hwuwnigjwdp ninhn ” 0.40 39 555 13.0
Yupgwédph nintd pwphg  40.0 ud hwuwnnieyudp
Uheunpdubiph Yunnignid 100dd hwuwnnipjwdp
8--169 d 118.90 4.521 537.55
(400x200x100) B
Lbipphu wwwnbph Yunnignid 20 ud hwuwnnipjudp
8--140 d 0.8 27.596 22.08
wtdqupinyny (400x200x200) I
Cunwdbup 572.65
Cwwnuwljubp
futh u
16 h twhwwwwnpwunmwlwu stpnh Yunnignud 6,0ud hud 7 986 16.250 129.77
hwuwnnipjwdp
Phnntb h P12, V4 N
1 Gunub hwunwyh Yunnignd 5 nwup pbununy 5,0ud fud 67655 162 313.86
hwuwnnipjwdp e o) KON
11-55 <f \% 7Y
156 Lwpptigunn 2tpwnh Ywnnignd 30dd hwuwnnipjudp pd 248.50 1.606:\; 399.09
1114 |Rpwdblyniups 2tipnp unnignd hgngudny b phunnuing pd 17.91
11-135 |4bpwdhlulwu uwhyubpny hwwnwyh Yunnignid 40x40ud pd 34.46




Lwdhuwpeb hwwnwlyubph Yunnignd 8ud hwuwnnipjwdp

11--191 pd 140.3 6.575 922.47
(2nh2wlyny, uwniugny)
11-135 [<wwnwlyubph Ywnnignut Yepwdngpwuhinhg 40x40ud pu 104.60 11.285 1180.41
11257 | {EndnanwinnG uwihtinny hunwlh nhawlutnh géu 84.5 1.271 107.34
Yuwnnignd 8ud pwpé&pnipjwdp
Cunwdbkup 3105.31
Lbkppht hwpnupdwy wluwwmwupubp
15-246-1 | Nwwnbiph ujwnnud queb gwnwjfuny pd 710.8 2.674 1900.68
15.977 1 “nutiph L wwwnthwuubph 2twbph ujwnnud qusk i 48.5 6.531 316.75
2uinwifuny
15--664 | Mwwnbiph dtthwdwdynwd b unuudwubpynud jwnbpu ubipyny pd 759.3 2.749 2087.32
15665 Unwuwmwnh dtthwdwdynwd b unutidwubpynud jwnbpu ol 248.50 3101 270,60
ubnyny
Uwuhwugnygubiph wwwnbpp Gpbuwwwwnnud
15--82 d 23.0 14.076 323.75
hwhubwuwihlubnny h= 2,44 (40x20u) 2
funhwungh U Jwpuwyhpwungh wwunbiph Gpbuwwwwnnid
15--82 d 6.75 14.076 95.01
hwluGwuwhlutipny h=1.54 (40x20u) B
10--64 |Ywjunyh wnwuwmwnh Yunnignu ghyuwunmywpwpenehg pd 248.50 3.550 882.18
Yy
10-64 | windh wnuuawnh junnignu wpwunhl pd 3.60 6.482 23.34
otipnwbphqubipny uwuhwugnygubpnid
Lunwdbkup 6399.62
Upwwpht hwpnupdwt wluwwnmwupubp
m hwuubph U nnu
15.210 | wnihwiliibnh L natiinh wnuwpht gbwtinh udunnud qéu 120.0 0.787 94.44
gbdbuwnjw pwnwtuny
15-304 |Udpwuwjhu gwugh wbnunpnw &3,0dd pohop 10x10ud pd 378.00 1.452 548.86
15-208 | Upwwpht wwwbph ujwnnid gbdbunwdwab pwnwuny p.d 378.00 2.907 1098.85
15535 Upwwpht wwwnbph ubipynd gpwnhdwgynit wlwinwht i 392.4 1330 591.89
ubipyny
Cunwdbup 2264.03
Uwpjwép
46-99 [<hu pbinnub uwwdphg Juwgws hwwndwdh pwunnid fud 0.7 21.075 14.75
27-43
97431 Fuwihu hhdph hpwwuwgnud  h=6ud 100 pd 0.862 108.099 93.18
p
et Bunub uwwdph Ywnnignid pwnuny P 15 nwuh hud 171.60
pbivinuny
11-55
156 Cwprtigunn 2tpwnh Yunnignd 30dd hwuwnnipjwdp pd 115.16
27-87 [Pwquwnt Ggpwpwpbph nbnunpnu 120x300 dd 100 4 1078.24
Cunwdbkup 1472.94
puiwwnwlwpwpnid
Mn nwhitut funnnwlubph dnuinwdnud
16262 | MMLhwnnwhiEuG funnngwlubinh 5 90.86
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Mnhypnwhiiut  funnnjulubph dntunwdnid

2 | 16-261 . 3.707 22.24
$20x3.4dd_PN 10 U 6.0 0
3 | 16-134 | Mnjhypnwhibul thwlwuubph wbnunpnd $20 hwun 6.0 4.845 29.07
4 116-134 | Mnjhypnwhbul hwlwuubph nbnunpnd $©25 hwun 1.0 4.996 5.00
5 | 18-184 [Ybnuwqunhs $hpinp P 25dd hwun 1.0 1.572 1.57
5 | 17-53 [Onpwyh wnbnunpnu $15404 hwun 2.0 7.567 15.13
7 | hud. [Mnjhwypnwhbuwhu dbwydnp dwubp hwuwn 8.0 0.318 2.54
Cunwdbkup 166.41
nuwhbnwgnd
Mnihwypnwhitub Ynninnt funnnwyubph dnunwdnud
g : 2.7 166.14
16-34 S110x2, 704 d 60.0 69
Mnihwpnwhibub Ynninnt funnnjwyubiph dnunwdnud
2 | 16- . 1. 27
6-33 ©50x2,004 d 5.0 653 8
3 | 17-19 |Lywgwpwuh nbnunpnid Yndy 2.0 23.731 47.46
4 [ 17-61 |2niqupwuwynuph nbnunpnud Yndy 2.0 54.354 108.71
5 | hud. |Mnhwypnwhbuwhtu dbwynp Jwubp hwun 8.0 0.636 5.09
Cunwdbkup 335.66
Chuwpwpwlywy wluwwnwupubp
| 1961 | Tonwdnint thapnud atinpnd - 3-nn Luungh g | 14.20 2,909 41.31
apniunubpnud
2 | 231 (Udwgh bwjuwwwwnpwuwnwlwu 26punp Yunnignud fud 4.0 6.724 26.90
3 | 46.47 Uugptiph 2wnwihnd wwwnbpnw 30dd inpwdwagdny hwtn 50 — .85
60,0ud funpnipiwdp
46-54
A Uugptiph ownwithnd dwdlybpnid 30dd inpwdwgdny hutn 40 0.8 3.29
9=1.75 (30,0ud funpnipjwdp
Cunwdbkup 94.32
Cwjwpnyh Ynp &/ pinnut nhunnwhnp
i | 1.961 |Pnunnubh thnpnud dbnpnd 3-r Guingh hud 1.20 2.909 3.49
apniunubpnd
2 | 1-968 |Spniuwnp hbinwnwpd |hgp &dbnpny fud 0.20 1.216 0.24
PLwnnub bwiuwgbpunh Yunmgnud B 12,5 nwuhp
3|1 -1 d 0.095 47.207 4.48
pbunnund 10,0ud hwunnypiwdp nhunnwhnph tiwy fu
<wywpnyh Yinp Yupgwédpny b/p nhinwhnpbiph
4 |22-446 0.251 37.652 9.46
wnbnwnpnud ® =1000dd Thwwn fud
5 | hud. |E/ptiinnub nhinwhnph wpdtipp 1000x10004dd hwun 1.0 41.057 41.06
G/ptiinnut nhuinwhnph Ywihwphsh wpdtipp pniwt
6 ud. : 19.1 .
M%) sinnany 1200x12004s hun | 10 219 1920
Cunwdbup 177.93
Ubkwwnhl hnp
Pnunpwyh thnpnud Epuljwywinnpny 3-pn Yupgh
1 [1--1551 15.58
gpniunubpnid Ynnuwithgpnid fud
) 1-961 [Pnunpwyh Ybpguwdowynid dtnpny 3-pn Ywipgh § 6.98
9=1,2 |apniunubpnid fu '
3 | 620 dwwwyblwjhu pinnut hhdpbph Yunnignud £12,5 hud 88.16
nwuh pbwnnuny
4 | 6127 Muwwnbph Yunnignud P12.5 nwuh pbiwnnuny 20,ud hud 302.06
hwuwnniejwdp
5 | 6473 Uhwaény| &/pbuinnub dwoélh Ywnmgnd P 20 nwup " 62,58

pbiunnuny




> | hud  [Udpwu P16 Alll i 0.0765 794.653 60.79
1.6 tu6h bwluiwwwwnpwunwlwu sbpnh unnignd g 10 15.958 15.96
8,0ud hwuwnnipjwip
3| 11-14  |Qpuwdtiyniups obipnh Yunnignud hgnquidng b phuninwdng pu 4.0 4.975 19.90
Onwthntuniejwt detnnwnwlwu funnnduwyp
) | 22-66 d 0.8 9.055 7.24
wnbnwnpnd d=108x4,0dd
19-284
0 Jtn (anb Ywihwphsh inbnunpnd d=5304d hwun 1.0 73.960 73.96
1| 1-969 |9pniunp hbnmwnwpé |hgp dtnpny fud 4.90 1.481 7.26
Cunwdkup 660.47
Lbippptu EjEYwpwlwl jnwuwynpnipinit
8-562-1 N puizfuhs quihwbuiyh nbnuinpnud (wwundwut hwuwn 1.0 9.731 9.73
tLurnlmnd) -
2 18-525-1 uhwfbwq e e e i L hwuwn 8.0 3.846 30.77
Lnwwwnnt Ywfundh wnwunwnht wdpwgynn «Lbn»
3 [8-601-2 J 6.013 282.61
dwlpoh 150x150 15 W hun | 47.0
4 18-603-1 S0 . EX T VRIS R e hwuwn 4.0 3.661 14.64
jwdwny 60 W
5 [ 21-132 |Lnwwwint ywwnht wdpwgynn 100W hwn 3.0 6.069 18.21
5 |8-591.2|" MupUbn wiguinhsUinh inbnunpnud hwn | 14.0 1,625 2275
nbnwnpdwu
7 |8-591.2|OnUpLin wligwunhslinh nbnwnpnud thul hutn | 3.0 1.892 5.68
nbnwnpdwu
3 |g-5917|" Muuwntn funnguijuipli dupnuiiuiph wtinuinpud hun | 43.0 1.257 54.05
hnnwugdwtu hwywyny
9 | 8-5917|Pnuuuntn funnguluihli duipnuwlitinh wubnuwnnnud hun | 13.0 1.456 18.93
hnnwugdwu hwywyny
2
0 |8-402-| SHIMRHLLIN WAGE SN huintuidpp 22,504 1000 | 6.0 63.399 380.39
MNBIr dwyuhoh pwqdwehn
2
1 |8-402-| SHIPMHLLIN tAUBE 9PNy huinduidpp 24 dd 1000 | 4.20 83.525 350.81
MABIr dwyuhsh pwgdwehn
2
3 | Bty | awt puiqdigrn ggush hwadutpp ONBr 41008 a0 | g5 377.326 94.33
dwluhoh e
3| pu$p. [Snup pwdwdwy P b, hwn 16.0 0.477 7.63
4| hu$. |Snup wugwinhsh U qupnwlh hwdwp:, P hun | 730 0.199 1453
Chuwpwpwlwy wiluwwnwupubp 0.00
23— LANLS
5 3--46 [Uugpbph pwnwthnid 20044 hwuﬁtﬂqmymwdp 20.0 5544 558
Jbp  [wwuwnbpnd W, £
Cunwdbkup 1311.94
Udpnnop t 23808.58
Uu< 20% 4761.72
Cunwdbup 4 28570.30
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